) =2x+a The function g is such that The functions f(x) and g(x) are given by the following: The diagram shows a sketch of the graph
gx) =ax+7 g(x) =5x — 4 f(x) = 5x — 2 y = f(x).
fg(x)=8x+b g(x) = x? + 3x The graph passes through the points
. _1 _
a and b are constants. a) Find g™ (x) (=3,0) and (5,0).
Work out the values of a and b. AY
a) Find the value of f(—3)
The function h is such that b) Find the value of g(4) Sketch the (_3’0)/ (5,0) oy
h(x) = kx? where K is a constant. araph of
Given that gh(3) = 86 flx+2) Y= flx
b) Work out the value of K ¢) Find the value off(%) R4
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Forall values of x, f(x) =x2? +1, h(x) =5x% -7 The functions f(x) and g(x) are give;(by; the4fo||owing:
x) = 4x
a) Find the expression for f ~1(x) g(x) =5+3x
T/,efun
Ct/ons a) Calculate the value of fg(2)
(x) an
b) Find an expression for h™1(x) 9(*) ar
N Cgi
/ /z'/e” bl’t/; b) Calculate the value of gf (—5)
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A& N The functions h(x) and g(x) are CUlay, )
) Y Cth
A\O \ & //"f‘ given by the following: € Yalye
oo ) SOD h(x) = 5x M)
.(\(5’&\“ A O ;\% N gx) =4x+1 2
2) « go“ﬁ ¥ \éz,’“ ;\@5
S Q .
L NE A a) Find hg(x)
e 3> Q
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o > 9 b) Find gh(x)
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\(" c) Find the value of x when
© hg(x) = 60




